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	ù�ÿ���þ	ü� �ü
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� ûÿ�	

� 

�� �)" 

�� �)" 2 # �.!)�2 " �03.�.� # 0��.� �. 0�1.���0� 2 � .�.��+12� 10 ��. 1$02��� ��.

�.2�� !�. 2.��� ��2+�� ��&12+� &" �0#!&���� /��2#.� 	. /��2#. .#2� .� 20� *� 1��

�0!. ��. .�) 2. �.1��� 0!�.�0�. 1$0/�.1� * 2.��� ��2+�� 

�! 1/ �+�0�. ù� 20��1�.2. 

õ2.� �. �$020 20�0�+10� 2� �0��2� 2 # �03.�.� # .#2 * �. �� !0�20� 

• �. 0���*1020 ��. �!)����. 2.���)��1�" �0 2 � ù��)!��� Perceptron, )2.�  � ����

10�" 0��.� �!.����� /�.$&!�1��0"�  

• �. 1$0/���020 2 �*��&�. 0�)" �0#!+�. � 2�� ù!$�20�2 ���� Perceptron, � # �� !0�

�. #� � ��10� 2 �  �+�#� .��)!��� � 

• �. 1$0/���020 Perceptrons /* � 2!�+� 12!&��2&� ��. 2�� 0���#1� �! �����2&�

2.���)��1�" �0 /* � �0!�11)20!0" ���10�"� 

• �. �0!��!�%020 2� �.1��� � !3� 2 # .�� !��� # ���1� /! ����" û��/ 1�"� � #

$!�1�� � �0�2.� 12�� 0��.�/0#1� � �#12!&�.2��+� Perceptrons,  

ò�� �0"-��0�/�� 

• ù��)!��� " ù�)2 ��" �.2�/#1�" 

• ù��)!��� " ü������1�" 

• ù��)!��� " ���1� /! ����" û��/ �

1�"� 

• ù��)!��� " Perceptron 

• +!.����� û�.$&!�1��0" ���10�" 

• ü��.�/0#1� 2 # Perceptron 

• �!#3) �2!+�. �0#!+�&� 

• � ��12��� �#��!2�1�� 

• ��$.�� � # �.�.��0�� 

• �0#!+�." 

• �#��!2�1� ü�0!� � ��1�" 0�)" Per-

ceptron 

• �#��!2�1� �)12 #"  

• �*�.%�  

• 	.��� ��2�" Perceptron 

ü�1.�&����" �.!.2�!�10�" 

õ�&" �$ #�0 �/� .�.3�!0� 12 �! �� *�0� �03��.� �  1� �)" 0�)" 2.��� ��2� 0��

�.� �. $&!�10� 2 $+! 10 �0!� $�" �.� �. 2�" ³ � �.2�10�´ 1*�3&�. �0 2�" #��!$ #10"

���10�"� � ���2�12 " 2!)� " ��. �. 0��20#$�0� .#2) 0��.� �0 2�� 03.!� �� 2 # Bayesian 

2.��� ��2�� ü�/.�0� )�&"� )2� � 03.!� �� 2 # ���2�12 # 2.��� ��2� /0� 0��.� ���2.
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0*� ��� �)�& ���0�%�" ���! 3 !�." 1$02��� �0 2�" .�.��.�0" ��. 2 #" #� � ��1� *"

pdf’s. 

�2 �03��.� .#2) �. ³�0$�1 #�0´ 2 � �.2� Bayes 2.��� ��2� �.� �. �! 1�.��1 #�

�0 �. /�.�!�1 #�0 2 $+! �0 ��� #" 2!)� #"� �� 2!)� � .#2 � �. 0��.� ���2�12 � &"

�! " ��� � �!�2�!� � 2  � � )�&" /0� 0��.� �.2¶ .����� � ���.�)2�2. ��� #"� ��

2.��� ��2�" � # �. 012��1 #�0 �$ #� 2�" !��0" 2 #" 12�� �!0#�. � # �!$�10 2 2�� " 2�"

/0�.02�." 2 # ¶�� �0 12)$ �. �.2.1�0#.12 *� ³��$.��" � # �.�.�� #�´� �2�� �.20*�

�#�1� .#2� ����0 �! 1���0�. �. � �20� � ���0�  2!)� " �0 2 �  � � �0�2 #!� *� 2.

�.1��� 12 �$0�. 2 # .��!+��� # 0��03�� #�  � �0#!+�0"� ù#2)" 0��.� �.�  �)� " � #

 � 2.��� ��2�" � # �. 0�02�1 #�0 12 �03��.� .#2) 0��.� ��&12 � �.� &" �0#!&����

/��2#.� 

�2�� .!$� 2 # �03.�.� #� 12�� ü�)2�2. ���� �. 012��1 #�0 12 �.1��) / ���) 12 �$0� 

2�2 �&� 2.��� ��2+�� � # 0��.� ��&12) &" Perceptron� �0#!+�."� � .��)" .#2)" 2.���

� ��2�" /�.$&!��0� 2 $+! �!.����� �0 ��. #�0!0���0/ � �2� 1#��$0�.� ü�)2�2. ����

2 �.1��) .#2) / ���) 12 �$0� $!�1�� � �0�2.� ��. 2�� .���2#�� �� � �*�� �&� .!$��

20�2 ���+�� �0 /#�.2)2�20" �� �!.�����" /�.�!01�" 2 # $+! #� �2�� �/�. 0�)2�2. ���0�

2.� � �0!��!.3� 2�" �0� / � ��." 0��.�/0#1�" � �#12!&�.2��+� Perceptrons. 

ü��	þ	ù ��� � ù�+��ÿ,��� PERCEPTRON 

�2�� 0�)2�2. .#2� �. 012��1 #�0 �.� ���� 12 .�� *120! �!)����. 2&� /* ����

10&� &1 �.� &2� ü����� �� �. #� ��1 #�0 )2�  � /* .#2�" ���10�" 0��.� �!.����� /�.�

$&!�1��0"� ù#2) 1��.��0�� )2� #��!$0� 2 #��$�12 � ��. #�0!0���0/ � # �. /�.$&!��0�

���!&" 2�" /* ���10�"� �0 ���. �)��.� #��!$ #� 1#�20�012�" ,w,...,w,w *
l

*
1

*
0 2�2 � �  

 
 

 

�$��. ���: +0&�02!��� 0!���0�.

2&� �.!.��2!&� � # �0!��!�3 #�

��. 0#�0�.� wTx+w0=0, ��. w1>0, 

w2>0, w0<0 . 
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+120 2 #�0!0���0/ �0 0��1&1� �Z[Z���[Z[Z 
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�
=++++ ll � � 0w*

0
*T =+wx                        

�. /�.$&!��0� ���!&" 2�" /* ���10�"� 

�2 �$� ��� 3.��02.� � �0&�02!��� 0!���0�. ���. 2�� �0!��2&1� /* /�.12�10&�� 2&�

�.!.��2!&� � # #�0�1�!$ �2.� 12� �0���� 0��1&1��  

g(x)=wTx+w0=0                                               (8.1) 

+�. l /�.12�10�" .#2� 0��.� � 0��1&1� 0�)" #�0!0����/ #� 12 � l-/��12.2 $+! � 2&�

$.!.�2�!�12��+� /�.�#1��2&�� ù�) 2� ��. ��0#!� ��� 2 # #�0!0����/ # �$ #�0 J�x)>0 

�.� .�) 2�� ���� ��0#!� �-) g(x���� 	 /���#1�. �.!.��2!&� w 0��.� ���02 12 #�0�

!0���0/ J�x� �� �� .� 12�10�" G �.� ] 2 # 1$��.2 " .� /0���*02.� )2� /�� �2.� .�)

2�" 1$�10�"�  

�

�

�

�

�

ZZ

Z
G

+
= �.�

�

�

�

�
ZZ

��J
]

+
=

[
 

õ2.� w0=0, 2 #�0!0���0/ /��!$02.� .�) 2�� .!$� 2&� .�)�&�� +�. 2 #" 1� � *"

2 # �03.�.� # �� ! *�0 �. �!�% #�0 2�� ����� �1 /*�.�. &" 

0ˆˆ T =wx                                                                                                8.2 

)� # Tx̂ =(x	��� �.� Tŵ =(wT,w0).
     

�0 ���. �)��.� � ����� �." ��0� )2� �� ! *�0 �.

0!�.�)�.120 �1 /*�.�. 12 � (l+1)-/��12.2 $+! �.� �0 #�0!0���0/. � # /��!$ �2.�

.�) 2�� .!$� 2&� .�)�&�� �2� 1#��$0�. �. 0!�.�)�.120 �0 #�0!0���0/. 2�" � !3�"

wTx=0  $&!�"� 0� ���&"� ����� 2�" �0���)2�2."� 

	 ��2 *�0� 2+!. 0��.�� 0�� �." / � *� 2. � /�.�*1�.2. 0��.�/0#1�" 2 # �� �+"

�� ! *�0 �. �! 1/� !�1 #�0 ��. #�0!0���0/ � # �. /�.$&!��0� 2�" ���10�"� 	� �*1�

2�� �/&10 �!+2 "  Rosenblatt [1]. þ � !0�. � # �. .� � #��1 #�0 0��.� .#2� 2�"

0�.$�12 � ��1�" 0�)" �.2�����. 0���0���� # �)12 #" �0 2� � ��0�. 0�)" .�./! ��� *

.�� !��� #� þ 1#��!2�1� �)12 #"� � # #� �020�2.� ��. 2 �.!)� �!)����.� �$0� 0��

/�.3�! �� ü�� w 0��.� 2 /���#1�. 2&� 1#�20�012+� 0�)" #�0!0����/ #�  !�� #�0 2�

Perceptron 1#��!2�1� �)12 #" &" 

( ) ( ) x
x

δ= ∑
∈<

7
Z[ZJ                                                          (8.3) 

)� # 
 2 1*� � 0�0��&� 2&� ;∈x � # 2.��� � *�2.� ��� " .�) 2 w �.� 





∈+
∈−

=
2

1

&,1

&,1
/

x

x
x                                                          (8.4) 

�! 3.�+" ��� ≥wJ � �!���.2�� 0�� 1&∈x �.� 2.��� �0�2.� ��� "� 2)20 �. �!��0�
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0T <wx � � # )�&" � ��.��.1���02.� �0 -� �.� ���02.� �02��)� �0 .��� � 1�0�2��)

�.2.��� #�0 )2� � � 1)2�2. 0��.� �02��� )2.� 2&∈x �.� 2.��� �0�2.� ��� "� � ��.�

��.1��� �2." 0� ���&" �0 2 �.2����� ���0 3 !� /x �.��12 *�0 2 ���)�0� ���2.

�02��)� þ J(w) ��/0���02.� )2.� )�. 2. ;∈x 2.��� � *�2.� 1&12� �.� 
 0��.� 2 �0�)

1*� � � ò�." .�./! ���)" .��)!��� " � # 0�.$�12 � �0� 2� 1#��!2�1� �)12 #" �����

0��.�  .��)!��� " Perceptron� 2 t-���. 2 #  � � # /��02.� .�)� 

∑
∈

−=+
Y

t /!)t()1t(
x

xxww                                         (8.5) 

+�. .!$��) )! w(0) 2�" .� � #��." 2&� /�.�#1��2&�-1#�20�012+�� � # #� � ���02.�

��1& 2�" ����� $!�1�� � �0�2.� ��. 2#$.� �� ��/0���) /���#1�.� �.� ��. t! ��. �.2���

���. 0���0����� .� � #��.� ��$�� t!  12.�0!���� � t!  12.�0!��t. ù� /0���*02.� )2��

��2& .�) .#2�" 2�" �! (� ��10�"  .��)!��� " Perceptron1#�����0� 10 ��. �*1� �02�

.�) �0�0!.1��� .!���) ����2&� .�./! ��".  	 �)1. ���.2. .�.�2 *�2.� 0�.!2��

2.� .�) 2�� .!$��� 2��� w(0) �.� 2�� 0��� �� 2�" t! � +�. �� � ���" �0�2 ��!0�0" �.�

�0!���" �0&!�2���" .�.��2�10�"  .�.��+12�" �.!.����02.� 12 >�@� ,. �!��0� �. 2 �

��120� )2��  .��)!��� " /0� 1#�����0� )2.�  � ���10�" /0� 0��.� �!.����� /�.$&!�1��0"� 

þ .�./! �� ����� �." ��0� )2� 12 ���. t� )� # �$ #�0 2 w(t), #� � ��� #�0 2. 01&20�

!��� ���)�0�. x	w(t) �0 )�. 2. ;∈x � �.� /��� #!� *�0 2 ��! �1�. 12�� ����� .�)

0�0��. 2. /�.�*1�.2. � # 2.��� � *�2.� ��� "� �2� 1#��$0�. ��� #�0 2� /�)!�&1�

w(t+1). 

þ ����� /0� 0��.� � � �./��� � !3� 2 # .��)!��� # Perceptron� ��. ���� /�� 3���"

� !3� 0��.� � .�)� #��� 

)t(!)t()1t( xww +=+ 0�� 1)t( &∈x �.� 0)t( )t(
T ≤xw  

  )t(!)t()1t( xww −=+ 0�� 2)t( &∈x �.� 0)t( )t(
T ≥xw                    (8.6) 

)t()1t( ww =+ /�.3 !02��� � 
�2� � !3� ����� �.! #1��� �2.� 2. /�.�*1�.2. 0��.�/0#1�" 12 � .��)!��� 2 ��. �0�

2� 2 ��� �.� $!�1�� � �0�2.� ��. �)� /���#1�. 0��.�/0#1�" 10 ���0 ���. 2 # .�� �

!��� #� �0 x(t) 1#�� ���02.� 2 /0���. � # �$0� 10�!� �. �.! #1�.120� 12 ���. t. ù�)

2�� �/�. 1$�1� 3.��02.� )2� .� 2 /0���. .#2) 2.��� �0�2.� 1&12�� /0� ���02.� /�)!�&�

1�� ü�� 2.��� �0�2.� ��� "� 2)20 0����� #�0 12 w(t) /� !�&2���" ����10�"� �2 �$� ����

3.��02.� �+"  .��)!��� " 12!�30� 2 0���0/ � +120 �. 2 � �02�10� 2 x(t) 12� 1&12�

���1�� þ 0��� �� 2 # ! 0/+ �.��0� �! 3.�+" 1��.�2��) !)� � ù� /0���*02.� )2� �.�
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.#2)"  .��)!��� " 1#�����0� 10 �0�0!.1��� .!���) ����2&�� #�) 2�� �! (�)�01�

���.�. )2�  � ���10�" 0��.� �!.����� /�.$&!�1��0"� 

�!��0� �. 2 ��120� )2� ��. �. 0��20#$�0� 1*����1� �. �!��0�� 1#���&"� �. $!�1�� �

� ��1 #�0 2. /�.�*1�.2. 2 # ; �0!�11)20!0" .�) ��. 3 !�"� ���0 3 !� � # 0�.�

�2� *�0 2. 12 �$0�. 2 # � ���0 )2� 1#����!+1.�0 ��. 0� $� (epoch).  �2� 1#��$0�.

�.! #1��� �2.� 2. /�.�*1�.2. 12 � .��)!��� .�) 2�� .!$�� +�. �. 0��20#$�0� 1*�����

1� .�.�20�2.� ��." .!���)" 0� $+�� 

  

�02� 2� 1*����1� 2 # .�� !��� # Perceptron�.� 2 � #� � ��1�) 2&� �.!.��2!&�  

wi, i=0,…,l, � 2.���)��1� ���02.� 1*�3&�. �0 2 �!)1�� 2 # wTx� )� # x 2 �0�.#���

��� �0 �� �! " 2.���)��1� ���&12 /���#1�.� õ2.� 2 �!)1�� 2�" � 1)2�2." 0��.�

�02��) 2 x �!�1�02.� 12� ��. ��0#!� 2 # #�0!0����/ # �.� 2.��� �0�2.� 12�� &1� 0�+

)2.� 2 �!)1�� 0��.� .!��2��) 2 x �!�1�02.� 12�� ���� ��0#!� 2 # #�0!0����/ # �.�

2.��� �0�2.� 12�� &2. 

�.!�/0���. ���03��.� � 

�0 ��. �!)����. 2.���)��1�" /* ���10&� $!�1�� � � *�2.� /�.�*1�.2. $.!.�2��

!�12��+� �0 /* 1#��12+10"� �2 �$� ��� �$ #� 1$0/�.120� �0 µ�¶ �.� µ ¶ 2. .�.��&!��

1���. /�.�*1�.2. �.�+" �.� � 0#�0�. �0 0��1&1� [1+x2-0.5 (.#2� �0 2� /�.�0� �����

�!.���)� �  � �. �$0� �! �*%0� �.2� 2�� 0�2��01� 2 # W ���.2 " 2�" ���5�� õ�&" 3.��0�

2.� .�) 2 1$��.� � 0#�0�. .#2� $&!��0� 2 $+! 2&� $.!.�2�!�12��+� .3�� �2." )�&"

2. /�.�*1�.2. ����������
	
�.� �-0.2,0.75)	 10 ��� " �0!� $�� �. 0�20�0120� � 0�)�0��

0�.����%� 2 # .�� !��� # 2�" ������ �. #� � ��120� � ��. 0��1&1� 2�" 0#�0�."� �. 1$0�

/�.120� � 0#�0�. 12 /���!.��. �.� �. 0�02.120� .� /�.$&!��0� 1&12� )�. 2. /0���.2.�

 

 

�$��. ���: þ 0#�0�. w(t)�/�.�0� ����� 

2.��� �0� ��� " 2 x(t). � .��)!��� " Percep-

tron 12!�30� 2 0���0/ (w(t+1)) +120 �. �0�

!����0� 2  x(t) 12� 1&12� ���1�. 
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û��02.� !t=! ���� 

ù���2�1� 

ù�) 2. /0/ ���. �! �*�2 #�� w(t)=(1,1,-0.5)T, x1=(0.4,0.05,1)T, x2=(-0.2,0.75,1)T, 

/x1=-1, �.� /x2=1. 

þ 0�)�0�� 0�.����%�� 1*�3&�. �0 2�� ����� /��0�� 

w(t+1)= w(t)-!�/x1x1� /x2x2�� � 

w(t+1)= (1,1,-0.5)T-0.7[(-1) (0.4,0.05,1)T+(+1) (-0.2,0.75,1)T], � 

     w(t+1)= (1.42,0.51,-0.5)T.  

 
ù�) 2 /���#1�. 2&� 1#�20�012+� �! �*�20� � 0��1&1� 2�" 0#�0�." ����[1+0.51x2-

0.5=0, �  � �. )2.� $.!.$�0� 12 /���!.��. 2 # 1$��.2 " (1#�0$�" �!.���) /�.��12+�

� #�0 )2� 2.��� �0� 1&12� )�. 2. /�.�*1�.2. �.�� 0� ���&"� � (t+1) 0�.����%� 0��.�

�.� � 20����� 

ñ1��1� ù#2 .�� �)��1�" ���03��.� �� 

þ ���1� &1 �0!��.����0� 2. /�.�*1�.2. �����
	
�.� (0,1)	, �.� � ���1� &2 2. �����

	 

�.� (1,0)	� �. $!�1�� � ���0�  .��)!��� " Perceptron����� �0 ! � �.� 0�.#����� #

w(0)=(0,1,0)	 +120 �. #� � ��10� ��. 0#�0�. � # �. /�.$&!��0� 2�" ���10�"� 

����� þ ù��ÿ	ü�	��ÿ�þ PERCEPTRON 

�2 �$� ��� 3.��02.� � .!$�20�2 ���� Perceptron� )�&" 0��1�" ���02.� 0�)" �0#!+�..  

	.  #1�+/� $.!.�2�!�12��� x1,…,xl /�0�0�! #� 2. 12 �$0�. (nodes) 2�" 0�1)/ #� �.���

�. .�) .#2� � ��.��.1���02.� �0 2 .�2�12 �$ ��! " wi.  	. wi 0��.� ��&12� &" 1#���

%0�".  	. 0����! #" ���)�0�. .�! �� �2.� �.�� �0 2 w0� ��&12) &" �.2+3��  (thresh-

old)� � #� � ��1�)" 2&� 1#��%0&� �.� 2 # �.2&3�� # ���02.� �0 2� � ��0�. 2 # .��)�

 
 
 
 
 
 
 

�$��. ��� ò�. �.!�/0���. 2 #

.��)!��� # Perceptron.  
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!��� # Perceptron. �2� 1#��$0�. � �� / " 2 # .�! �12� �0!�� .�) ��. �� �!.�����

1#��!2�1� f(.), � # 12�� �! �0����� �0!��2&1� 0��.� � � �./�.�. ���.2��� 1#��!2�1�. 





<
>

=
�]��

�]��
�]�I  

þ 1#��!2�1� .#2� 0��.� ��&12� �.� &" 1#��!2�1� 0�0!� � ��1�" (activation) 2 # Per-

ceptron� �0 ���. �)��.� 2 Perceptron#� � �0� ��. #�0!0���0/ wTx+w0 � �.� � �� �

/ " 0��.� � � � .��� �. .�) 2 .� 2 x �!�1�02.� 12� ��. � 2�� ���� ��0#!� 2 # #�0!0�

����/ #� �0 ���0" �0!��2+10�" � f(.) �� !0� �. �$0� �.� ���� � !3�� +�. �.!�/0���.� �

�� / " �� !0� �. 0��.� -� � �� 

 

 

�$��. ���: (a) ù!$�20�2 ���� Perceptron �.� �b) 1#�� ��1�)" )� #  .�! ��

12�" �.� � 1#��!2�1� 0�0!� � ��1�" 1#�� ��� �2.� .�) � �� * �0 ��. �*�� � 

	 �.1��) .#2) 12 �$0� $!�1�� � �����0 .�) 2 � 5RVHQbODW 12. 2��� 2�" /0�.02�."

2 # �� ��. �. � �20� � ��10� 2 #" �.1�� *" �0#!+�0" 2 # 0��03�� #� ü��.� ��. .��)

�.!�/0���. ��." ��$.��" � # �.�.��0� (learning mahine�� �0 ���. �)��.� 0�)" 12 �$0��

 # 2 #  � � #  � 0�0*�0!0" �.!��02! � ���$� 1#��%0�" �.2+3��� #� � ��� �2.� �0 2�

� ��0�. 0�)" .�� !��� # 0������1�" ���$�� .��)!��� " Perceptron) � # 0�0!�0� ���&

12 1*� � 2&� /�.�#1��2&� 0��.�/0#1�"� 

ü��	þ	ù ��� �þ +�ù��ÿ�ù ûÿù�
�ÿ�ÿ�ù ���ú�þ�ù	ù 

8.2.1 PERCEPTRONS 2-�	�
�ù	
� 

	 Perceptron 0��.� ��." �.1��)" 2.��� ��2�" �.2����� " ��. �!.����� /�.$&!�1��.

�! ����.2.� 	. �! ����.2. )�&" .#2� .� 20� *� �0� %�3�. 12�� �!���� �2� 1#���

$0�. �. 012��1 #�0 10 ��.� ��&12) 10 )� #" �."� �!)����. � # /0� 0��/�$02.� �!.����

�� �! 1����1�� 

�� Boolean 1#�.!2�10�" �� ! *� �. 0���3� *� )2� 0�20� *� $!�� 2.���)��1�" 10

�!)����. /* ���10&�� �!���.2�� � �� / " ��." 2�2 �." 1#��!2�1�" 0��.� µ�¶� � µ�¶

0�.!2+�0�� .�) 2�� 2��� 2&� /#./��+� /0/ ���&� x=( x1, x2,..., xl)
T
2�" 0�1)/ # 2�"�
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�0 .#2) 2 � 2!)� 2R x 2.��� �0�2.� 12�� ���1� &1 �µ�¶�� � &2 �µ�¶�� þ Boolean XOR 

�!��� 0��.� ��. ��.1��) �� �!.����) �!)����. 2.���)��1�"� �2 � ���.�. ��� /�� �2.�

 � ù��� ���.�0" 2&� � ���+� �!��0&� XOR �.� �R ��. /* 0�1)/ #" x1, x2. �2. �$��

�.2. 

 

�$��. ���: +0&�02!�. 2 # �! ����.2 " �a) XOR �.� �b) OR. 

����. �.� ����� 3.�� �2.� 2. .�2�12 �$. 1��0�. 12 /�1/��12.2 $+! $.!.�2�!�12��+�

�.�� �0 2�" ���10�" � # .��� #�� ü��.� 1.3�" )2� /0� #��!$0� ��. � �./��� 0#�0�. �#�0�

!0���0/ � � # �. $&!��0� 2�" /* ���10�" 12 ;25 �!)����.� 0�+ .#2) 0��.� 03��2)

12 �!.����� /�.$&!�1�� �!)����. 2�" �!���" OR. 

 

+�. 2�� .�2��02+��1� 2 # �! ����.2 " XOR �. .� � #��1 #�0 2�� 0��" � !0�.�

,. 1$��.2�1 #�0 /* .�2� ��." 0#�0�." �#�0!0���0/.�� )�&" 3.��02.� 12 �$� ���� þ

���1� &1 �!�1�02.� �02.�* 2&� 0#�0�+� �.� � &2 0�2)" 2&� 0#�0�+�� ù" / *�0 2+!. .#�

2� 2� /�./��.1�. ��� /�.3 !02���� � # �. �."  /���10� .!�)20!. 10 �0���0*10�"� �2��

 #1�. $&!�� #�0 2 #" #� � ��1� *" �." 10 /* 3�10�"� �2�� �!+2� 3�1� /��� #!� *�

�0 /* #�0!0���0/. g1(x)=0 �.� g2(x)=0� $!�1�� � �+�2." /* Perceptrons� þ �� / "

x1 x2 XOR ���1�  x1 x2 OR ���1� 

0 0 0 &2  0 0 0 &2 

0 1 1 &1  0 1 1 &1 

1 0 1 &1  1 0 1 &1 

1 1 0 &2  1 1 1 &1 

 

���.�." ��� �� ù��� ���.�0" 2&� �#�+� ��R �.� �R. 
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2&� Perceptrons.#2+� 0��.� y1 �.� y2 .�2�12 �$.� )�&" 3.��02.� �.� 12 � ���.�. ���� 

�!���.2�� 10 1$�1� �0 2 �!+2 #�0!0���0/ �0#�0�.� g1(x) 2 # �$� ��� ��� / " y1 12 �  

 

12 � ���.�.� �)� 2 ����� 1��0� �!�1�02.� 12� �-� ��0#!� �.� )�. 2. ���. 12�� ����

	 2 �� .����0� ��. 2 #�0!0���0/ �0#�0�.� g2(x) (�� / " y2)� �#�/#�� �2." 2+!. 2.  

 

�� 3�1� 2� 3�1� 

x1 x2 y1 y2  

0 0 0(-) 0(-) &2 (0) 

1 0 1(+) 0(-) &1 (1) 

0 1 1(+) 0(-) &1 (1) 

1 1 1(+) 1(+) &2 (0) 

���.�." ��� ù��� ���.�." ��. 2�" /* 3�10�" #� � ��1� * 2 # ;25 �! ����.2 "� 

 

 

�$��. ���: 	.���)��1� 2 # XOR �0

/* 0#�0�0"� 
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y1, y2� �$����� �.!.2�! *�0 )2� 2. 1��0�. 2�" ���1�" &2 ��02.�* 2&� 0#�0�+� 12 �$�

���� .�2�12 �$ *� 10 ��. 1��0� ��� �� �.� 2. 0�2)" 2&� 0#�0�+� ��$� ���� 12. 1��0�. ���

�� �.� ��� ��� 	. 2!�. )�&" .#2� 1��0�. 0��.� �!.����� /�.$&!�1��.� 

�0 ���. �)��.� 12�� �!+2� 3�1� #� � ��1�+� �02.1$��.2�� #�0 2 $+! 2&� $.�

!.�2�!�12��+� 10 ��. �� $+! �y1, y2)� �2 � �02.1$��.2�1��� .#2) $+! �  � ���10�"

0��.� �!.����� /�.$&!�1��0" �.� 12� /0*20!� 3�1� #� � ��1�+�  � ���10�" /�.$&!�� �

�2.� �0 ��. 2!�2 Perceptron 12 $+! �y1, y2)� 	 �$ ��� /0�$�0� ��. 2�2 �. .!$�20�2 ���

�� � # #� � �0� 2 XOR �!)����.� 	 /��2# � # �! �*�20� 0��.� ��&12) �.� &" Per-

ceptron � 12!&��2&�� 	.  #1�+/� $.!.�2�!�12��� 03.!�)� �2.� 12. 12 �$0�. 0�1)/ #�

	. /* Perceptrons � �0#!+�0" 2 # �!+2 # 12!+�.2 "� ��&12) �.� &" �!#3) 12!+�., 

�02.1$��.2�� #� 2�� 0�1 / 12 $+! �y1, y2)� � # 0��.�  1#�/#.1�)" 2&� 0�)/&� 2&�

Perceptrons 2 # �!+2 # 12!+�.2 "� �2� 1#��$0�.� 2 2!�2 Perceptron, ��&12) &" Per-

ceptron � �0#!+�." 0�)/ # #� � �0� 2 #�0!0���0/ � # �*�0� 2 �!.����) �!)����.

12 � (y1, y2) $+! � 	. ��!� 2 # �$� ��� .�2�12 �$ *� 12�" 0#�0�0" 2&� 1$���2&� ��� �.�

���� þ .!$�20�2 ���� .#2� �0���0*02.� ��01. �.� ��. l 0�1)/ #" �.� �0!�11)20! #" .�)

/* , p, �0#!+�0" 12 �!#3) 12!+�.� �$�

8.9. 

 

	 �.!.���& 1�0�2��) 2 # �02.1$��.2�1� * 2 # $+! # 2&� $.!.�2�!�12��+� 10 ��

 

 

�$��. ���: 	. 1��0�. 2 # XOR �! ����.�

2 " 0��.� �!.����� /�.$&!�1��. 12 � �� 

$+! �y1,y2). 

 

�$��. ���: Perceptron � 12!&��2&� ��.

2�� 0���#1� 2 # XOR �! ����.2 "� 
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�.� ��� $+! /0� 0��.� �0� �&��� � .��� 0�2�1102.� 10 ��. �0���)20! 1��.�2��)

�0&!�2��) .� 2��01�.� ù� /0���*02.� )2� �02.�.�� �2." 10 ��. �� $+! � 0� ���0� �0�

�.�*20!�" /��12.1�"� � ���.�)2�2. 2 �!)����. �. �02.2!.�0� 10 �!.����� /�.$&!�1��

� .#���0� >2]. 

 

8.2.2 ûÿù�
�ÿ�	ÿ�þ ÿ�ù��	þ	ù 	
� PERCEPTRONS û
� �	�
�ù�

	
� 

�2 �$� ���� �.���." .�) 2 #" p �0#!+�0" 2 # �!#3 * 12!+�.2 " #� � �0� ��. #�0�

!0���0/ � 12 � l-/��12.2 $+! 2&� $.!.�2�!�12��+�� þ �� / " 2 # ���0 �0#!+�. 0��.�

� � � .��� �. �0 2� ��1� 2 # /�.�*1�.2 " 0�1)/ # &" �! " 2 .�2�12 �$ #�0!0���0/ �

	 �$� ���� .�2�12 �$0� 10 ��. Perceptron 12 /�1/��12.2 �l=2) $+! �0 2!0�" �0#!+�0"

12 �!#3) 12!+�. ���." ��. ���0 0#�0�.�� �� 2!0�" 0#�0�0" g1, g2, g3 $&!�� #� 2 0���0�

/ 2&� $.!.�2�!�12��+� 10 0�2� �0!� $�" �� �*0/!. 12� �0���� �0!��2&1��� �0 �.�0���

.�) .#2�" 2�" �0!� $�" .�2�12 �$0� �.� ��. 2!��/. .!���+� �y1, y2, y3) � # /0�$�0� 2� 1$0�

2��� ��1� ����� �.� ��-�� 2�" �0!� $�" &" �! " 2�" 0#�0�0" g1, g2, g3� .�2�12 �$.� �2 1$��

�. 0��1�"  � /* �0!� $�" �$ #� .�2�12 �$��0�� 12�" /* ���10�"�  

 

�0 ���. �)��.�  ³�&/��)"´ ���0 �0!� $�" 0��.� 2 1��0� (y1, y2, y3) 12 $+! � # �0�

2.1$��.2�� #� 2�� �-/��12.2� 0�1 /  � 2!0�" �0#!+�0" 2 # �!#3 * 12!+�.2 "� �#1�.�

12���� .#2)" 0��.� ��." �02.1$��.2�1�)" 2�" 0�1)/ # 12�" � !#3�" 0�)" � �./�.� # �*� # 

�#�0!�*� # 12�� �0!��2&1� p>3 �0#!+�&��� 	 �!�1�� ��2��. 0/+ 0��.� 2 �+" �.2.�

��� �2.�  � �0!� $�" .#2�" 12�" /* ���10�" &1� &2� +�. 2 �.!�/0���. 2 # 1$��.2 "

 

�$��. ���: ù!$�20�2 ���� Perceptron 2 

12!&��2&� 

�$��. ����: �0!� $�" � # $&!�� #�

2 � /�1/��12.2 $+! 2!0�" 0#�0�0"� þ

���0 2!��/. 2&� .�0!.�&� /0�$�0� 2�

1$02��� ��1� �� � -� 2�" ���0 �0!� �

$�" &" �! " 2�" 2!0�" 0#�0�0". 
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�����  � ���10�" 0��.� �21� �.2.�0�����0"� +120  � � !#3�" 2 # �*� # � # .�2�12 �$ *�

12�� ���1� &1 �. 0��.� �!.����� /�.$&!�1��0" .�) 2�" � !#3�" � # .�2�12 �$ *� 12��

���1� &2� ��.!.2�!�120 )2� ��. � !#3�� � ��� ��¶ .#2� 2�� �0!��2&1� /0� .�2�12 �$0�

10 �0!� $�� ù#2) 1#��.��0� ���2. �.� � � !#3� .#2� /0� 0��!0��0� 2 �!)����.�� ò21��

� #� � ��1� 0�)" 0����/ # .�) 2 �0#!+�. 0�)/ # /�.$&!��0� 2�" ���10�"� �$� ����� ü��

)�&"  � �0!� $�" �.2.��� �2.� 12�" ���10�" �21� +120  � � !#3�" 2 # �*� # � # .�2��

12 �$ *� 12�� ���1� &1 �. ��� 0��.� �!.����� /�.$&!�1��0" .�) 0�0��0" � # .�2�12 ��

$ *� 12�� &2� 2)20 /0� 0��.� /#�.2)� 2 0���0/ � # #� � �0�  �0#!+�." 0�)/ # �. /�.�

$&!�10� 2�" /* ���10�"� +�. �.!�/0���.� 0�� � &1 .� 20�0�2.� .�) 2�" �0!� $�" ��� �.�

��� �.� � &2 .�) 2�" #�)� ��0"� /0� �. �2.� /#�.2)� �. 1$0/��1 #�0 ��. 0���0/ � # �.

�$0� 12� ��. 2 # ��0#!� 2�" � !#3�" 2�" &1 �.� 12�� ���� ��0#!� 2�" #�)� ��0"� 

 

�$��. ����: �� �&/�� � 2&� �0!� $+� 2 # 1$��.2 " ���� .�2�12 �$ *� 12�" � !#�

3�" 0�)" �*� #� 	 0���0/ � � # #� � �0�  �0#!+�." 0�)/ #� /�.$&!��0� 2�" ���10�"� 

�#� %�� �2."� �� ! *�0 �. � *�0 )2� ��. 3HUFHSWURQ �-12!&��2&� 0��.� /#�.2)� �.

/�.$&!�10� /* ���10�" � # .� 20� *�2.� .�) 0�+10�" � �#0/!��+� �0!� $+�� .��� )$�

 � �./�� 20 ��&1� � �#0/!��+� �0!� $+�� 

8.2.3  PERCEPTRONS 3-�	�
�ù	
� 

	 �! �� *�0� ³./��� / ´ � # /��� #!�����0 �0 2. Perceptron 2-12!&��2&� �� �

! *�0 0*� �. �. 2 #�0!�0!�1 #�0 $!�1�� � �+�2."� ��. ��. .�)�� 3 !�� 2�� 0��0�!�.

�0 2��  � �. �." 0��� *2�10 2 XOR �!)����.� ü��  � /* ���10�" .�2�12 �$ *� 12�"

� !#3�" 2 # #�0!�*� # ��02� 2 � .!$��) �02.1$��.2�1�)� �0 2!)� � # �. ��� 0��.�

�!.����� /�.$&!�1��0"� 2)20 ." 0��$0�!�1 #�0 �. 1$0/��1 #�0 �0!�11)20!. .�) ��. #�

�0!0���0/. �.� �. /��� #!��1 #�0 ��. .�)�� 12!+�. 12 3HUFHSWURQ� þ �*1� 0/+ �0�

!��.����0� 2!0�" 3�10�"� 

�2�� �!+2� 3�1��  $+! " 2&� $.!.�2�!�12��+� �02.1$��.2��02.� 12�" � !#3�" 0�)"



 

 

159 

#�0!�*� #� �0 2. Perceptrons2 # � # 12!+�.2 "� �2� 1#��$0�.� 0����� #�0 )�0" 2�"

� !#3�" � # .�2�12 �$ *� 12� ��. .�) 2�" /* ���10�"� ." � *�0 2�� &1� +�. �.�0��� 

.�) 2�" � !#3�" .#2�"� #� � � *�0 �12 �02.1$��.2�1��� $+! � ��. #�0!0���0/ �0 2�

� ��0�. 0�)" �0#!+�.� �� 1#�20�012�" #� � ��� �2.� �21� +120 � 1#��0�!����� � !#3�

�. �!�1�02.� 12�� ��� ��0#!� �.� )�0"  � ���0" 12�� �-�� ñ!. � �� / " 2 # �0#!+�. .#�

2 * 0��.� � �)� ��. 2. 1��0�. 2�" �0!� $�" � # .�2�12 �$0� 12� 1#��0�!����� � !#3�

�.� � ��. )�0" 2�" ���0" �0!� $�" �.�0��!2�2. 2�" ���1�"�� ü�.�.�.���� #�0 2�� �.!.�

���& /�./��.1�. �0$&!�12� ��. �.�0��� .�) 2�" � !#3�" � # .�2�12 �$ *� 12�� ���1�

&1� ü��� ��. �.!�/0���.� 0�$.�0 S 2�2 �0" � !#3�"� 12� /0*20!� .#2� 3�1� #� � ��1�+�

�. $!0�.�)�.120 S �0#!+�0"� �.!.2�!�120 )2�� ���0 3 !�� � # 0�3.���02.� ��. x .�)

��� �. �0!� $� � # .���0� 12�� &1� 2)20  ��." .�) 2 #" S �0#!+�0" �. /��0� �� / �

�.� )� �  � ��� � �� ù�2��02.� )2.� 2 x .���0� 10  � �./�� 20 .�) 2�" �0!� $�" 2�" &2, 

2)20 )� �  � S �0#!+�0" �. /�� #� �� / �� ü� ���&"� �.!�$ �2." 2�" 0�)/ #" 2&� S

�0#!+�&� &" 0�1 / 10 ��. ��� �0#!+�. � # #� � �0� ��. OR �*��� � �� / " 2 # �0#�

!+�. .#2 * �. 0��.� ���2. � ��. 2�� &1 �.� � ��. 2�� &2.   

 

þ .!$�20�2 ���� 2 # 1$��.2 " ���� #� � �0� 2�� �.!.���& .���� #$�. #� � ���

1�+�� 	 �0#!&���) .#2) /��2# 0��.� ��&12) &" Perceptron 3-12!&��2&�� 	.  #�

1�+/� $.!.�2�!�12��� 03.!�)� �2.� 12. 12 �$0�. 0�1)/ #� �� �0#!+�0" 2 # � # �!#�

3 * 12!+�.2 " #� � � *� 2. #�0!0���0/. 2�" �!+2�" 3�1�" #� � ��1�+�� �� �0#!+�

�0" 2 # � # �!#3 * 12!+�.2 " .�2�12 �$ *� 12� �� 3�1� #� � ��1�+� �.� �!.��.2 �

� � *� 2 /�.$&!�1�) 2&� �0!� $+�� � �0#!+�." 0�)/ # .�2�12 �$0� 12�� 2!�2� 3�1�

#� � ��1�+�� #� � �0� ��. �*�� OR �.� �!.��.2 � �0� 2 /�.$&!�1�) 2&� ���10&�� 

�0 2�� �.!.���& �.2.1�0#.12��� .�)/0���� .� /0��.�0 )2� ��. Perceptron 3-

12!&��2&� �� !0� �. /�.$&!�10� 10 /* ���10�"  � �./�� 20 ��&1� � �#0/!��+� �0!� �

$+� 12 $+! 2&� $.!.�2�!�12��+� /�.�#1��2&�� 	 .� 2��01�. .#2) 0��.� � �* 1��

�.�2��) �.� .�./0���*0� 2�" /#�.2)2�20" 2.���)��1�" .#2 * 2 # 2*� # �0#!&���+� /��

�2*&�� 

 

�$��. ����: ù!$�20�2 ���

�� Perceptron � 12!&���

2&�� 
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�.!.2�!�10�"� 

1. ü�� �$ #�0 �0!�11)20!0" 2&� /* ���10&�� � 3�� 1 3�. � # 0���1.�0 0��.� ��01.

0�0�2�1���� .!�0� �. .#��1 #�0 2 #" �0#!+�0" 0�)/ # �.� �. .�2�12 �$�1 #�0 ��.

�0#!+�. 10 ���0 ���1�� ���0 3 !� � # ��. �!)2#�  x .�) ��. ���1� 03.!�)�02.�

12 /��2# �  .�2�12 �$ " �0#!+�." 0�)/ # �. /��0� � �.�  � #�)� �� � �� 

2. ��$!�" 12����"� .�./0��.�0 2�" /#�.2)2�20" 2.���)��1�" 2&� � �#12!&�.2��+� Per-

ceptrons� �2�� �!���� ���.�.�  #� � ��1�)" 2&� 1#��%0&� /0� 0��.� /#�.2)� �. ���

�0� .�.�#2���� õ�&" �.� ��. 2 �.1��) Perceptron� �21� �.� ��. 2. �0���0#���. .#2�

�0#!&���� /��2#. �. �!��0� �. .�.�2*� #�0 .�� !��� #" 0������1�"� 

3. ò�. ��� �.1��) 0!+2��.� � # 1#�/�02.� �0 2. � �#12!&�.2��� Perceptrons, 0��.�  

#� � ��1�)" 2 # .!��� * 2&� �0#!+�&� ��. ���0 12!+�.� �2�� �!���� )� #  � �0�

!� $�" 2&� ���10&� /0� 0��.� ��&12�" 0� 2&� �! 2�!&�� .#2) /0� 0��.� 0*� � ���.�

ü��1�"� 12�� �!���  � /��3 !0" �0!� $�" /0� 0��.� .�.!.�2�2. � �*0/!.� þ �0��2�

�.�  � /#�.2)2�20" 2&� �0#!&���+� /��2*&�� 10 1$�1� �0 ��� #" 2.��� ��2�"� .� 20�

�0� .�)�� .� ��2) ���. �!0#�."� 

�.!�/0���. ���03��.� � 

û�� �2.� 2. �.!.��2& /�.�*1�.2. �.�  � ���10�" 12�"  � �0" .��� #�� 

&1: (0.1, -0.2)	, (0.2, 0.1)	, (-0.15, 0.2)	, (1.1, 0.8)	, (1.2, 1.1)	 

&2: (1.1, -0.1)	, (1.25, 0.15)	, (0.9, 0.1)	, (0.1, 1.2)	, (0.2, 0.9)	 

�. 0�0�$�0� 0�� .#2� 0��.� �!.����� /�.$&!�1��.� �.� �. 1$0/�.120� ��. �.2������ .!�

$�20�2 ���� Perceptron� # �. 2. /�.$&!��0�� 

ù���2�1� 

ù�) 2 �$� ���� 3.��02.� �&" 2. /�.�*1�.2. .#2� /0� 0��.� �!.����� /�.$&!�1��.� û* 

0#�0�0" �!.���" � # /�.$&!�� #� 2�" /* ���10�" 0��.�  � 2x1+2x2-1=0 �.� 2x1+2x2-3=0. 

ü� ���&"� 2 Perceptron/* 12!&��2&� 2 # 1$��.2 " ���� 2.��� �0� 2�" ���10�"� �

�0#!+�." 0�)/ # #� � �0� 2�� 0#�0�. ����\\
��

=−− 12 � �y1, y2) $+! � 
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�$��. ����: +0&�02!�. 2 # �.!./0���.2 " ��� �.� 2 Perceptron � # 0���*0� 2 �!)�

����.� 

ñ1��1� ù#2 .�� �)��1�" ���03.�.� # � 

�$0/��120 2�" .�)� #�0" 2!0�" 0#�0�0" 12 $+! 2&� /* /�.12�10&�� x1+x2=0, 

x2=1/4, -x1+x2=0. 

+�. �.�0��� .�) 2�" �0!� $�" � # /��� #!� *�2.� .�) 2�" 2 ��" 2 #"� �! 1/� !�120

2�" � !#3�" 2 # �*� # 12�"  � �0" .�2�12 �$ *�� �02� 2 �02.1$��.2�1�) � # #� � � *� 

 � �0#!+�0" 2 # �!+2 # 12!+�.2 " 0�)" � �#12!&�.2�� * Perceptron� �#�/#�120 2�"

�0!� $�" � # /��� #!� *�2.� �21� +120 .� 2 �!)����. �. 0��.� /�.$&!�1�� .�) Per-

ceptron� 12!&��2&� �.� �� .�) Perceptron � 12!&��2&�� +�. �.�0��� .�) 2�" �0!��2+�

10�" �! 1/� !�120 .�.�#2��� 1#��%0�" �.� �.!.��2! #" �.2&3�� #� 

����� � ù�+��ÿ,��� ��ÿ�,�û���ÿ�þ� ûÿùû��þ� 

�2�� �.! *1. #� 0�)2�2. �. �0!��!�% #�0 ��. �0� / � ��. 0��.�/0#1�" � �#�

12!&�.2��+� Perceptrons� 
� ��2 #�0 )2��  

• 
��!$ #� � /�.�*1�.2. 0��.�/0#1�"� { }�1������������� xxx=X � +�. �.���. .�) 2.

/0���.2. .#2� ��&!�� #�0 2�� ���1� � # �! �!$02.�� ù#2) �. �0!��!�302.� �0 ��.

.�2�12 �$ /���#1�. 7������������������L� =y , i=1, 2, …, N.  	 /���#1�. mR)i( ∈y  

�$0� )�. 2. 12 �$0�. �� 0�2)" .�) 2 12 �$0� 12�� ��1� r, )� # r � ���1� � # .���0�

2 .�2�12 �$ x(i) �.� }m,...,2,1{r ∈ , ��. ��. �!)����. m ���10&�� 

• ,0&! *�0 )2� �$ #�0 l 12 �$0�. 0�1)/ # �5� l∈x � �.� m �0#!+�0" 0�)/ #� ��. ��.

���0 ���1�� þ �� / " ���0 �0#!+�.� )2.� 12�� 0�1 / 0�3.���02.� 2 x(i), 0��.�

m,...,2,1p),i(ŷp = .  �� �� / � .#2 � .� 20� *� 2. 12 �$0�. 0�)" /�.�*1�.2 " �L�\
�

� 2 

 � � �. ���.�0� �/.����� �. �1 *2.� �0 )i(y � �2�� �!.��.2��)2�2. )�&" /�.3�! #��

ù#2)" 0��.�  �)� " � # 2 )i(ŷ 0��.� ��&12) &" 2 �!.��.2��) /���#1�. 0�)/ # �.�
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2 )i(y &" 2 0���#��2)� 

• �2�� �!��� 0����� #�0 2� /�.3 !� �02.�* 0���#��2+� �.� �!.��.2��+� 0�)/&� �.

0��.� 0��$�12�� ò�. 2�2 � �!�2�!� 0��.� 2  ���) 202!.�&���) 13���.� 

∑
=

=
N

1i

)i(üJ  

)� # 

∑
=

−=
m

1p

2
pp ))i(y)i(ŷ(

2

1
)i(ü  

• þ 0�.$�12 � ��1� 2 # �)12 #" J �0 2� � ��0�. .�./! ���+� .�� !���&� .�.�20� 2��

�.!.�+��1� 2 # �)12 #" &" �! " 2�" ���&120" �.!.��2! #"� /��./� 2�" 1#��%0�" �.�

2�" �.!.��2! #" �.2&3�� # )�&� 2&� �0#!+�&� )�&� 2&� 12!&��2&�� ù#2) )�&"

/0� 0��.� /#�.2)�� )2.�  � 1#�.!2�10�" 0�0!� � ��1�" 2&� �0#!+�&� 0��.� � .1#�0�

$�" � �./�.�. ���.2��� 1#��!2�1�� þ /#1� ��. .#2� �� !0� �. �0�0!.120� 0�� 12�

��1� 2�" � �./�.�." ���.2���" #� �02�1 #�0 2� � ��12��� (logistic) 1#��!2�1� � #

 !��02.� &"� 

�[H[S��

�
�[�I

.−+
=  

)� # � �.!��02! " . �.�0�2.� ���1� 2�" 1#��!2�1�"� õ1 �� �0���� � 2��� 2�" 2)�

1 �� � �* ���1���0� � f(x) 2� � �./�.�. ���.2���� �$� ����� þ �! 1����1� 2�" ���

�.2���" .�) 2� � ��12��� 1#��!2�1� 0��.� ��. .�) � ���" ���0" /#�.2�" 0��� ��" >�@� 

 

• � .�./! ���)" .��)!��� " 0�.$�12 � ��1�" � # �.! #1��� #�0� .���0� 12�� �.2��

� !�. 2&� .�� !���&� .�)2 ��" �.2�/#1�" (gradient descent)>�@� �.� 0��.� 2�"

� !3�" 

 

 

�$��. ����: þ � ��12��� 1#��!2��

1� ��. /��3 !0" 2���" 2 # .� . 
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T
M

T
M

T
M �W���W� www ∆+=+  

)� # T
MZ 0��.� 2 /���#1�. 2&� �.!.��2!&� �1#��%0�" �.� �.2+3��� 2 # j-�0#!+�.

12 q 12!+�. �.� t 2 �.!)� ���. .�./! ��" 2 # .�� !��� #� þ /�)!�&1� ûw j
q 0��

�.� .��� �� 2 # gradient 2 # �)12 #" J &" �! " T
MZ (t)� �)�& 2�" � �#�� �)2�2 "

0�)" � �#12!&�.2�� * Perceptron #� � ��1�)" 2 # gradient/0� 0��.� .��)"� �

�.1��)" �)� " 0��.� )2�  � 2���" 2&� �.!.��2!&� 2&� �0#!+�&� 0�)" 12!+�.2 " 0���

!0�� �2.� .�) 2�" 2���" 2&� �.!.��2!&� 2&� �0#!+�&� 2&� �! �� *�0�&� 12!&���

2&�� � #� � ��1�)" 2&� gradients0��2#�$��02.� #� � ��� �2." �!+2. 2. gradients 

&" �! " 2 #" �0#!+�0" 2 # 20�0#2.� # 12!+�.2 "� 12� 1#��$0�. 2 # �! 20�0#2.� #�

�� ��� ù#2)" 0��.�  �)� " � #  .��)!��� " 0��.� ��&12)" &" µù��)!��� " ���1� �

/! ����" û��/ 1�"¶� �� �0�2 ��!0�0" 0��.� .!�02� 20$����" �.� �.!.�0�� �2.�� � 0��

/�.30!)�0�0" .�.��+12�" �.!.����02.� 12 >�@� 

�.!.2�!�10�" 

1. þ 1#��!2�1� �)12 #" J 0��.� ��. �� �!.����� 1#��!2�1� &" �! " 2�" .��+12 #" �.�

!.��2! #"� ü� ���&" � 1#��!2�1� .#2� .� 20�0�2.�� �0����� .�) ��. .!���) 2 ���

�+� 0�.$�12&�� � .��)!��� " 1#�����0� 10 ��. .�) .#2�� .��� �. .�) 2 1��0� 

0�����1�" 12 ���. t=0. �2�� �!����  .��)!��� " 03.!�)�02.� �.!.���& .�) ��.

3 !�� �0 /�.3 !02���" .!$���" 1#����0" �.� 0�����02.� � �*1� � # .�2�12 �$0� 12 

���!)20! 20���) �)12 "� 

2. 
��!$0� ��." .!���)" �.!.��.�+� 2 # .�� !��� # .#2 * �0 12)$ ���2. 2�� 0��2��

$#�1� 2�" 1*����1�" 2 # >�� �@� 

3. 	 �)12 " 0�.$�12&� 202!.�+�&� /0� 0��.� � �)�� 0��� ��� ñ��. �)12� �$ #� 0���

1�" �! 2.�0� �.� $!�1�� � ���0� >�� �@� 

4. ò�. 1��.�2��) �!)����. �0 2. �0#!&���� /��2#. 0��.� � 0��� �� 2 # �0��� #" 2�" 

.!$�20�2 ����"� �)1. 12!+�.2. �.� �)1 � �0#!+�0" ��. ���0 12!+�. .�.�2 *�2.��

õ�&" ��. ���0 2.��� ��2�� �21� �.� 2. /��2#. .#2� �. �!��0� �. 0��.� ³.!�02�” �0���

�. ��. �. �.�.�� #� 2 2� /�.3 ! � �0� 2�" /�.3 !02���" ���10�"� .��� )$� “2)1 �0�

���.” +120 �. �.�.�� #� 2 2� /�.3 ! � �0� 2. /0���.2. 2�" �/�." ���1�" �.� 0��1�"

2�" �/�.�20!)2�20" 2 # 1#��0�!���� # 1#�)� # 0��.�/0#1�"� õ2.� 2 /��2# 0��.� � �

�* �0��� �.!���)" �.!.��2!&� �0��� "� �$0� �0!� !�1���0" /#�.2)2�20" �0���0#�

1�"� �0 ���. �)��.� � 1#��0!�3 !� 2 # 0��.� 32&$� )2.� 2 # /�� �2.� /�.�*1�.2.
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0�2)" 2 # 1#�)� # 0��.�/0#1�"� +�. 2 1� �) .#2) �$ #� .�.�2#$�0� �0� / � ��0"

#� � ��1� * 0�)" ���2�12 # .!��� * �0#!+�&�� þ �� 1#����1���� 2�1� 0��.� �.

�0�����0 .�) �0���. /��2#. �.� �. .3.�! *�0 12./�.�� �0#!+�0" 1*�3&�. �0 ���

� � �!�2�!� >�� �@ 

5. 	. � �#12!&�.2��� Perceptrons� # �0!��!�%.�0 /0� 0��.� 2. �)�. �0#!&���� /��

�2#.� þ ����� �!.3�. 0��.� �� *1�. 10 /�.3 !02���" � !3�" �.� .!$�20�2 ����"� ü�

�0�"� 12 ����� .#2)� .��+" .� ��.�0 ��. �)!2.« 

ñ1��1� ù#2 .�� �)��1�" ���03.�.� # � 

	� 0��.� 1&12) �.� 2� ��� " .�) 2. �.!.��2&� 

 �&12) ��� " 

�� �0 2 � .��)!��� Perceptron 0��.� /#�.2� ���2. � �*1� 0�)" �! ����

�.2 " 2.���)��1�" �0 /* ���10�"� 

  

�� þ 1#��!2�1� 0�0!� � ��1�" 2 # Perceptron/�$02.� ��. 0�1 / 2 /���

�#1�. 2&� $.!.�2�!�12��+� �.� /��0� �� / �� � �� 

  

�� ü��.� /#�.2� � 2.���)��1� 2 # XOR .� $!�1�� � ��� *� /* 0#�0�0"�    

�� ò�. Perceptron2!�+� 12!&��2&� 0��.� /#�.2)� �. /�.$&!�10� 10 /* 

���10�"  � �./�� 20 ��&1� � �#0/!��+� �0!� $+� 12 $+! 2&� $.!.�

�2�!�12��+� /�.�#1��2&�� 

  

�� þ ü��.�/0#1� 0�)" � �#12!&�.2�� * /��2* # 1��.��0� 2 � �.� !�1�)

2�" 2���" 2&� 1#��%0&� �.� �.2&3�� # ��. ���0 3HUFHSWURQ � # �0!��.��

���02.� 10 .#2)� 

 

  

�*� %� �03.�.� # 

�2 �03��.� .#2) �.! #1��1.�0 2 �.1��) / ���) 12 �$0� 2&� �0#!&���+� /��2*�

&�� 2 � �0#!+�. � Perceptron� û�.��12+1.�0 )2� �0 2� $!�1� 0�)" Perceptron �� !0� �.

/�.$&!�12 *� /* ���10�" 03)1 � 2 �!)����. 0��/�$02.� �!.����� �*1�� �2� 1#���

$0�. �.! #1��12��0  2!)� " 0�1&��2&1�" 2 # Perceptron 10 .!$�20�2 ����" /* �.�

2!�+� 12!&��2&� ��. 2�� 0���#1� �! �����2&� 2.���)��1�"� � # .�.�2 *� �� �!.����

��" �*10�"� 	�� " �.! #1��1.�0 2�� 3�� 1 3�. 2 # .�� !��� #  ��1� /! ����" /��/ �

1�"� ��. .�) 2�" ��&12�" /�./��.1�0" � # $!�1�� � � *�2.� ��. 2 � �.� !�1�) 2�" 2���"

2&� �.!.��2!&� 2&� Perceptrons 12�" .!$�20�2 ����" 2&� 12!&��2&�� 



 

 

165 

ú���� �!.3�. 

[1] F. Rosenblatt:  “The Perceptron:  A Probabilistic Model for Information Storage 

and Orangization in the Brain”, Psychological Review, vol. 95, pp 386-408, 1958. 

[2] S. Theodoridis, K. Koutroumbas:  “Pattern Recognition”, Academic Press, 1998 

[3] S. Haykin:  “Neural Networks”, McMillan, 1994 

 

ù�.�2�10�" 2&� ù1��10&� ù#2 .�� �)��1�" 

8.1 

	. /�.�*1�.2. 0��.�/0#1�" �.! #1��� �2.� 12 � .��)!��� �0 2�� .�)� #�� 10�!�� 

(0, 0)T, (0, 1)T, (1, 0)T, (1, 1)T.  	. /�.�*1�.2. 0�0�20�� �2.�� 1*�3&�. �0 2. )1. 0��.�0

12� �0&!�.� �! 1��2 �2." 2R � &" 2!�2 12 �$0� � +120 �. ��� #�  � #� � ��1� � 12 � �-

/��12.2 $+! ��. 0���0/. � # /��!$ �2.� .�) 2�� .!$� 2&� .�)�&�� 

	. /�./ $��� ���.2. 2&� .�./! �+� 0��.�� 

w(0)=(0, 1, 0)T 


����+ÿ���� ����þ��
 
	þ� �ù�ù�	ù�þ�   wTx 

ù��	ü�ü��ù 
	ù�ÿ���þ�þ� 

þ 	ÿ�þ 	�
 w +ÿù 	þ�

ü���ü�þ ù�ùû���þ 

wT(0) x(0)=(0, 1, 0) (0, 0, 1)	=0 �ù,�� w(1)= w(0)+(0, 0, 1)T =(0, 1, 1)T 

wT(1) x(1)=(0, 1, 1) (0, 1, 1)	=2>0 �
�	� w(2)= w(1) =(0, 1, 1)T 

wT(2) x(2)=(0, 1, 1) (1, 0, 1)	=1>0 �ù,�� w(3)= w(2) -(1, 0, 1)T=(-1,1,0) 

wT(3) x(3)=(-1,1,0) (1, 1, 1)	=0   �ù,�� w(4)= w(3) -(1, 1, 1)T=(-2,0,-1) 

wT(4) x(4)=(-2,0,-1) (0, 0, 1)	=0 �ù,�� w(5)= w(4)+(0, 0, 1)T =(-2,0, 0)T 

wT(5) x(5)=(-2,0, 0) (0, 1, 1)	=0  �ù,�� w(6)= w(5)+(0, 1, 1)T =(-2,1, 1)T 

wT(6) x(6)=(-2,1, 1) (1, 0, 1)	=-1<0  �
�	� w(7)= w(6) =(-2,1,1) 

wT(7) x(7)=(-2,1,1 ) (1, 1, 1)	=0   �ù,�� w(8)= w(7) -(1, 1, 1)T=(-3,0,0) 

wT(8) x(8)=( -3,0,0) (0, 0, 1)	=0   �ù,�� w(9)= w(8)+(0, 0, 1)T =(-3,0, 1)T 

wT(9) x(9)=(-3,0, 1) (0, 1, 1)	=1>0  �
�	� w(10)= w(9) =(-3,0,1)	 

wT(10) x(10)=(-3,0, 1) (1, 0, 1)	=-2<0  �
�	� w(11)= w(10) =(-3,0, 1) 

wT(11) x(11)=(-3,0, 1 ) (1, 1, 1)	-2<0  �
�	� w(12)= w(11) =(-3,0, 1) 

wT(12) x(12)=( -3,0,1) (0, 0, 1)	=1>0  �
�	� 	ü��� 
����+ÿ��
� 

 

ñ!. �$0� 0��20#$�0� 1*����1� �.� � 0#�0�. �0 �.!.��2! #" w=(-3, 0, 1)T� /��./� � 0#�
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�0�. -3x1+1=02.��� �0� 2. /�.�*1�.2.� 

õ� � " 0�2��010 1&12� 2. ���.2. 2 # .�� !��� # .���0� 1#�$.!�2�!�.� ù� /0� 2.

�.2.3�!.20� .��� � ���020 )2� �#��120 ���!&" 2 � .��)!��� � �! 1�.��120 �.�� �0

�0!�11)20!� �! 1 $� �.� $&!�" �. ����020 2� �*1�� ù� /0� 1#��.��0� .#2) 2 20�0#2.� 

�� 120� $&!��120� /�.��1020 2 �.!�/0���. ��� �.� 2� 1$�1� ����� �.� / ����120 �.��� 

8.2 

�� 2!0�" 0#�0�0" 3.�� �2.� 12 �$� ����D� �� �0!� $�" � # /��� #!� *� �$ #�  � �.�

2�120� 1*�3&�. �0 2� ��1� ���0 �0!� $�" &" �! " �.�0��� .�) 2�" 0#�0�0"� �2 �$�

8.15b3.�� �2.�  � � !#3�" 2 # �*� # 12�"  � �0" �02.1$��.2�� �2.�  � �0!� $�"� 

• +�. �. 0��.� 2 �!)����. /�.$&!�1�� .�) ��. Perceptron 2-12!&��2&�� �. �!��0�  �

�0!� $�" �. 1#�/#.12 *� �21� +120  � .�2�12 �$0" � !#3�" 2 # �*� # �. 0��.� �!.��

���� /�.$&!�1��0"� ò�." 2�2 � " 1#�/#.1�)"� �! 3.�+" )$�  �)� "� 0��.�� 

�����������
�

∪ω  

&2� �� #�)� ��0" 

 

�$��. ����: +0&�02!�. 2�" .1��10&" ���. 

 ò�. 0���0/ � # $&!��0� 2�" � !#3�" .#2�" 0��.� 2  

                                                                 �
�

�
\\
��

=−+  

 � # 3.��02.� 12 1$��. ����b. 	 Perceptron 2 # 1$��.2 " ����D� #� � �0� 2�"

0#�0�0" 2 # ����a�.� 2 �.!.���& 0���0/ �.�� 0� ���&"� 0���*0� 2 �!)����.�  

 



 

 

167 

 

�$��. ����: Perceptron� 12!&��2&� ��. 2�� �1��1� ù#2 .�� �)��1�" ���� 

• ò�." 1#�/#.1�)" � #  /��0� 10 �� �!.����� /�.$&!�1��0" �0!� $�" 0��.�   

�����������
�

∪ω  

&2� �� #�)� ��0" 

 

 

�$��. ����: Perceptron� 12!&��2&� ��. 2�� �1��1� ù#2 .�� �)��1�" ���� 

�2 1$��. ����b 3.�� �2.� 2. /* 0���0/. –y1-y2-y3+1/2=0�.� y1+y2+y3-5/2=0.  

� # /�.$&!�� #� 2�" � !#3�" .#2�" .�) 2�" #�)� ��0"� �!���.2�� 2 �!+2 .�) 2. 0���0�

/. .3��0� 2�� � !#3� ����� 12�� ��� ��0#!� �.� )�0" 2�" ���0" � !#3�" 12�� �-� ��0#�

!�� 	 /0*20! 0���0/ .3��0� 12�� ��� ��0#!� 2�� � !#3� ����� �.� )�0" 2�" ���0"

12�� �-�� � �0#!+�." 0�)/ # �!.��.2 � �0� ��. 25 �*�� �.� #� � �0� 2�� 0#�0�.

����]]
��

=−+ � 	R Perceptron2 # 1$��.2 " ����a 0���*0� 2 �!)����.� 

 

ù���0� 1#�$.!�2�!�. 10 )� � � ��#10  �)���!� 2�� �1��1�� ü��2#$�. 0��.� �.� �

�*1� 2 # �!+2 # ��! #" 2�"� ù� /0� �.2.3�!.20 �. �*1020  *20 2 �!+2 ��! " ���

120� $&!��120� û�.��120 �! 10�2��� 2�� #� 0�)2�2. ����� �.� �! 1�.��120 �.���  

8.3 

 �&12) ��� " 
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1. �0 2 � .��)!��� Perceptron 0��.� /#�.2� ���2. � �*1� 0�)" �! ����

�.2 " 2.���)��1�" �0 /* ���10�"� 

þ �*1� 0��.� /#�.2� �)� )2.�  � ���10�" 0��.� �!.����� /�.$&!�1��0"�

�
� 0�)2�2. ���� 

 

9�

2. þ 1#��!2�1� 0�0!� � ��1�" 2 # Perceptron/�$02.� ��. 0�1 / 2 /���

�#1�. 2&� $.!.�2�!�12��+� �.� /��0� �� / �� � �� 

�� 2���" 2&�  #1�&/+� $.!.�2�!�12��+� � ��.��.1��� �2.� 0�� 2�" 1#���

%0�"� 2. 0����! #" ���)�0�. .�! �� �2.� �0 2 �.2+3�� �.� 2 .� 2��0�

1�. 2�" ��! �1�"  /��0�2.� &" 0�1 / " 12�� f(.). �
� 0�)2� ������ 

 

9�

3. ü��.� /#�.2� � 2.���)��1� 2 # XOR .� $!�1�� � ��� *� /* 0#�0�0"� 

�ü�)2�2.� 8.2) 

 

9� 

4. ò�. Perceptron2!�+� 12!&��2&� 0��.� /#�.2)� �. /�.$&!�10� 10 /* 

���10�"  � �./�� 20 ��&1� � �#0/!��+� �0!� $+� 12 $+! 2&� $.!.�

�2�!�12��+� /�.�#1��2&��  

�!���.2�� �0 2 �!+2 12!+�.  $+! " �02.1$��.2��02.� 12�" � !#3�"

#�0!�*� #� 2 /0*20! 12!+�. �0!��$0� �0#!+�0" ��. 2�� ��. �)� ���1�

�.� 2 2!�2 .� 20�0�2.� .�) ��. �0#!+�. � # #� � �0� ��. OR �*��� �
�

� 0�)2� ������ 

9� 

5. þ ü��.�/0#1� 0�)" � �#12!&�.2�� * /��2* # 1��.��0� 2 � �.� !�1�)

2�" 2���" 2&� 1#��%0&� �.� �.2&3�� # ��. ���0 3HUFHSWURQ � # �0!��.��

���02.� 10 .#2)� 

�!���.2�� � �.� !�1�)" .#2)" ���02.� �0 2� $!�1� ��&12+� 0� 2&� �! �

2�!&� �! 2*�&� ��. ���0 ���1� �.� 2�� 0�2��01� �.2����� # .�� !��� #

2.���)��1�"� �
� 0�)2� ������ 

9� 

�#�$.!�2�!�. 12 � .�.��+12� � # �$0� .�.�2�10� 1&12� �.� 12�" ���20 0!&2�10�"� �.�

�� 0��/ 1� 0��.� �.�  � 2�110!�" 1&12�" .�.�2�10�"� õ1 � ��.�.� �0!�11)20!. .�) /* 

���� �. ��� .� � �20#2 *�� �. �! 1�.��1 #� �.�� /�.��� �2." 2�" .�2�12 �$0" 0�)2��

20"� ü��.� 1�� #! )2� � 0�.����%� .#2� �. 2 #" 0��2!�%0� �. �.2.� �1 #� ���!&" �.�

2 �03��.� .#2)� 


